SPECIFICATIONS

70 mm STROKE SERIES WS, 60201 0

SPECIFICATIONS

Madel Z500-B Z600-B ZHE00-B D650-B D750-B
Number of Cylinders 2 3
Type Vertical, water .cooled, 4 cycle dissel snging
Bore » Stroke 88 % 70 72x70 64 % 70 68 x 70
mm (in.) (2.68 % 2.76) (2.83 % 2.76) {2.52 % 2.76) {2.68 % 2.75)
Total Displacement em? (cu.in) 508 (31.00) 570 (34.78) 6875 (41.2) 762 (46.5)
SAE Nct Cont. §.3/3000 8.2/3200 8.6/3600 8.6/3000 9.7/3000
KW/min™" {rpm} (HP/min_1 {rom}) {8.5/3000) (11/3200) (11.5/3600) {11.5/3000) (13.0/3000)
SAE Net Intermittent 7.46/3000 9.3/3200 10.4/3600 9.7/3000 11.2/3000
5 | KWrmin™T (rpm) (HP/min™ {rpmy) (10.0/3000) (12.5/3200) {(14.0/3500} (13.0/3000} (15.0/3000)
é SAE Gross Intermittent B.2/3000 10.473200 11.5/3600 11.2/3000 12.7/3000
@ kw/min~' {rpm) (HPImin" {rpmy) {(11.0/3000) (13.8/3200} {15.5/3600) (14.3/3000) (16.5/3000)
% DING271-NA 6.25/3000 8.1/3200 8.5/3600 8.5/3000 9.6/3000
2 Kwimin™ {rpmy (PS/min {rpm)) {8.5/3000) {11.0/3200) (11.5/3600) {11.5/3000) (13.0/3000)
b DING271-NB 7.0¢/3000 8.8/3200 9.8/3600 9.2/3000 10.7/3000
kW/min™! {rpm (PS/min~" {rprm) (9.5/3000) (12.0/3200} {13.5/3600} (12.5/3000} (14.5/3000)
DIN70020 7.7/2000 9.6/3200 10.7/3600 10.3/3000 11.8/2000
kwimin~! ¢pm) (PS/min™T (rpm)) {10.5/2000) {13.0/3200} {14.5/3600) {14.0/3000) (16.0/3000)
Maximum Bare Speed min~! {mpm} 3200 3500 3780 3200
Minimurmn ldling Spead min~! {rprm 800
Maximum torgue N-m/min™! {rm) 28.0/1800 32.9/2000 33.2/2000 36.5/1800 42.211800
kgt:-m/min 1 (rpmy} 2.86/1800 3.36/2000 3.39/2000 3.72/1800 4.30A1800
ft-Ibs/min 1 (rpm) 20.72/1800 24 29/2000 24 .52/2000 26.94/1800 31.081800
Combusgtion Chamber Spherical Type
Fuel Injection Pump Bosch K Type Mini Pump
Govearnor Centrifugal Ball Mechanical Governor
Direction of Rotation Counter-clockwise (viewed from flywhesl side)
Injection Nozzle Bosch Throttle Typea
Injection Timing 044 rad. (25%) betore TD.C.
Firing Order 1-2 1-2-3
Injection Pressure 13.73 MPa (140 kgt/cma, 1991 psi)
Compression Rafio 221
| ubricating System Forced | ubrication by Purmp
Qil Pressure Indicating Electrical Type Switch
Lubricating Filter Full Flow Paper Filter {Cartridge Type)
Cooling Systern Pressurized Radiator, Forced Girculation with Water Purmp (Not included in the basic ongine)
Starting Systemn Electric Starting with Starter
v, kKW (12,0.8)
Starting Support Device By Glow Plug in Cembustion Chamber
Battery 12V, 45 AH, equivalent 12V, 65 AH, equivalent
Dynamo for Charging 12V, 150 W
Fuel MHgsal Fual No. 2-ND (ASTM D975)
Lukricating Oil Class GF lubricating oil as per API classiticatien is recommended.
It this class of lubricating oil is not available, preterably use Class CD or GE lubricating oil.
For details on recommended lubricating oils.
Lubricating Qil Capacity L 2,55 (2.70 U.S.gte., 2.24 Imp.qis.) 4.6 {4.86 U.S.qls., 4.05 Imp.gts.)
Weight (Dry) kg (Ibs) 59.7 (153.7) 70.5 (155.5) B2.6 {1B2.1) 82.1 (181.0)
Application General Power Source



http://www.iteksoft.com/pdf-creator/
http://pdf.iteksoft.com/pdf-writer/

70 mm STROKE SERIES W3M, 00621

SPECIFICATIONS

D850-B DH850-B D950-B Vi100-B VH1100-B V1200-B
3 4
Vertical, water-cooled, 4-cycle diesel engine
7270 7570 72 %70 75 %70
{2.83x278) (2.95 = 2.76) (2.83 x 2.76) (2.95 » 2.76)
855 (52.2) 827 (56.6} 1110 {64.56) 1237 (/5.19)
11.6/3000 13.1/3600 12.7/3000 15.29/3000 17.15/3600 16.79/3000
{15.5/3000) {17 .5/3600) {17.0/3000) {20.5/3000) (23/3600) {22 5/3000)
13.4/3000 15.7/3600 14.5/3000 17.20/3000 20.89/3600 19.40/3000
{18.0/3000) (21.0/3800) (19.5/3000) (24.0/3000) (28.0/3800) (26.0/3000)
14.%/3000 17.2/3600 16.0/3000 19.77/3000 22.88/3600 21.26/3000
{19.8/3000) (23.0/3600) (21.5/3000) {2B.5/3000) {30.8/3500) {28.5/3000)
11.4/3000 12.9/3600 12.5/3000 15.08/32000 16.92/3600 16.55/3000
{15.5/3000) {17.58/3600) (17.0/3000) {20.5/3000) (23.0/3800) (22.5/3000)
12.5/3000 14.7/3800 13.6/3000 16.55/3000 19.86/3600 18.02/3000
{17.0/3000) {20.0/3800) (18.5/3000) {22.5/3000) (27.0/3800) (24 5/3000)
14.0/3000 16.2/3600 15.1/3000 18.39/3000 21.70/3600 19.86/3000
{19.0/2000) {22.0/3600) (20.5/3000) {25.0/3000) (29.5/3800) (27.073000)
3200 3780 3200 3200 3780 3200
800
50.6/1800 49.9/2400 55.6/1800 68.45/1800 66.4%/2400 74.04/1800
5,16/18D0 5.09/2400 5.67/1800 6.88/1800 8.78/2400 7.55/1800
37.30/1800 3B8.78/2400 41.00/1800 50.45/1800 49.04/2400 54.65/1800
Spherical Type
Bogch K Type Mini Pump
Centrifugal Ball Mechanical Governor
Counter-clockwise (viewed from flywheel side)
Bosch Throttle Type
0.44 rad. (25°) before T.D.C.
1-2-3 1-3-4-2
13.73 MPa (140 kgticm?, 1891 psi)
20
Forced Lubrication by Fump
Electrical Type Swilch
Full Flow Paper Filtar (Cartridge Type)
Pressurized Radiator, Forced Girculation with Water Purnp (Not included in the basic enging)
Eleetric Starting with Starter Electric Starting with Starter
(12, 0.8) (12, 1.0)
By Glow Plug in Combustion Chamber
12 V, 85 AH, equivalent 12 ¥, 80 AH, equivalent
12V, 150 W
Diesel Fuel No. 2-D (ASTM DS75)
Class CF lubricating oil as per AP classification is recommended.
If this class of lubricating oil is not available, preferably use Class CD or CE lubricating oil.
For details on recommended lubricating oils.
4.6 (486 USqls., 37(381 USgis., 46 (486 USqts.,
4.05 Imp.gle.) .26 Imp.gs.) 4.05 Imp.gts.) 5.7(6.0U.5.qts., 5.02 Imp.qts.)
82.6 (182.1) 83.1 (183.2) 103.3 (227.8) 104 {229.3)
Genegral Power Source



http://www.iteksoft.com/pdf-creator/
http://pdf.iteksoft.com/pdf-writer/

PERFORMANCE CURVES

7Qmm STROKE SERIES WS5M, 60201 (}

PERFORMANCE
CURVES

Z500-B (SAE)

EIa<k HORSEFOWED W&

]

=
UEL LE ' = F HR

1400

ool

- y
W WINn 0 P00 ann 200 AN

Crati Wb HEE=L e (pm)

Z2500-B (DN}

!
7
w
S
a
"
&
g

BRAKE HOPRSEPONEA PS

,
O - ; - k L22o

- ) ~—+und
rq'"' = "4, 'T’ <o &

A0 1500 180D 2000 2700 Zagd IGO0 TN

oo
FRSGING SR Fan ‘U’Pm]
D650-B {sAE)
w
[T L[ T TTT -
" HEl
= ) l.n()sfrqn@iﬁ—i__‘_“‘ Vg
o i Pt | [ 0
' =
| | INTI'HMITTENTTDHTE-LG-EL“""'\-J I a7
1 =
i = £
T 2
[ # SONT TaRaE L] —— £
i } [y F
i } /
1" 4 T
CHORR N M P
R ] ___,r"r"‘_'___,_,w__
T ) g
c'? /W"/,-—‘ TN IERMITIENT T
3 BH.F“.—T—-‘F::
i =
£, = -t CDNTBiHS‘
=]
ol 1.
FE ——— —
= p 1 ]
a T
Y + -— - B | T
P ] 5
- I
I -
CECTINTERMTTERTT L T A1t &
‘ ‘ [ A i
NN
1400 'aDO0 1830 MO II0N FeDO LT ORI T 2]

b uE SREED M

(nrny

(0 76F032

Z600-8 (SAE)

BAECE NORSFEONFA 4

)

any vom E
LNGINE SPEED min ()

Z600-B (DIN)

23 PS5

LESESLE

ey

sKAKE

LT

ERIGNE BREELD M pm)

D6&50-8 (DIN)

o ]
T opnnn 3800

£

i

-

s

a

z

o
[

&

+

A o
i W &
[ S

—

¥ uw
t PO

' i~
R ]

PORER PS

RARAKE H0as!

i. b -. . J I.

TGO TR TEOD mpHE Al e
£ IF GRCCD ¢1in (i)

00 /D4

FLEL LA ZHF ==

TGAGLIE b3l ™

ZHG600-B [sAE)

613 K E HTASE LWE

ZH600-B (DIN)

KE 1OFSIFINTR S

KA

[T T ‘Illl
‘—‘—(HIUHOHUI.E e e e e e e e e

. P
I INTENR L TEn " TOADLT

S . -

7 =

: u

- e AONT TONLGUEZY e

i

o

£

LEBEHP HF

1

SuUE

Tina

YUK 7I00 40N ZR00 R0 0040

FHGINE SEElG minrm]

E

H

w

4

]

T

i

¥

I 1 | | .

I | i - r o ALY

IR — L Long &

T :

- 150 =

- ™ —t—tt | ! H %
Igon vonm X100 2400 1800 FEOO 3000 ATNO LU HHOD

enaME BPEED il ltHpen)



http://www.iteksoft.com/pdf-creator/
http://pdf.iteksoft.com/pdf-writer/

70 mm STROKE SERIES WSM, 632010 PERFORMANCE CURVES

D750-B (sAE) DB50-8 (saE) ) N DH850- B {(sAE)

LA
T 1 T i | | H UnEES 10MGUE | | ' L]
P snygseunji | e
._1, Cor HE IMTERMITTENT ™y a7 g H
H_A-‘—‘m— s L. 4 4 Thean ' c e i R L =
l 1 | -‘_‘_4‘""- —-— ¥ 1 | h-.*‘__ s R . 1NIFHMI"|'T|_N'|' TOROL * g
INTERMITILNT 10RGLY - | H 1 T I H w
_'r_ FRM z ' e = S —oi » é ; i ‘*T,"'-,_- i E}
3 . : CONT 10ROUE ﬂ-ah_,‘___m‘:: E |t | £
; - " CONT. TOROUE h““L-
. = . | i . | I .
! = i | | [
i 22—t - ; : /L-“'"
wotar 4+ 4 -+ 4 i i i 1
-t | = b aRDLE B E ot 1 z . [ L‘.FOR?;B.H}/ I
1 1 e | i j
s orst— GRoss W |t ¥ e ] ﬂ ] ; L ] . — —
T o1 + — g :;r/ INTE iz 1 r 1:-, \L:“;I;E‘HM\T;IEl T
- N LR
oo o et f".—jsnwnm'w 2., Sl ‘,f—‘ u 18 | !
2 ; h 1 ./’,f’" EHP T § / Cort— 1 ;_J.r" 5 ‘ l mnE
w 1 ) i T
5 1 w g ; H
. “‘"T’F } ¥l ] A JT/ ¥ = ' e
f_, 10 -"‘EG:H nHp —_ £ L 4_ -/D'" anp . X 2 ' ﬁ - e
i ! F.
g aah A '] v M :
" og o . N '-/ . . [ [ 14
i t ) 4 . : I i ! )
T A P - a W1 1L on B i / ‘ H— =
: ¥ | [ [ ; i R los B
¥ oo ' + LI (UL (M TR AT TR T 043 T | N i o =
8 © FUEL UMTERMITTENT: | | | ~—i aan T 7 T 1 ' T I ] f f Tdes 2 n DbL BRI MITTINT e nas =
) | o -, [ ] g i Z : T . va @
[ i o \ I I l T ) ARG DD 180D OG0 DRG0 240D 600 MMOU O | i Ll N | T
Laoh 1600 1800 * ook ) LNGINE BPEED rrinmerd 1300 MK Z201 A4H] 2600 2800 3000 3200 3400 3600
& 1 1 A0 700 0 A0 FROL Ao . Yy 1,
CnGINE ZREED min™lrom) FNRINE S R AEm)
Q0761040 01761042 0076T041
D750-B (DIn) D850-B (DiN) DH850- B (DIN)
T 45 ag T g -
] E"::L - MINF) | o _MmL 8
gl | - |
] ] . 1 1 ot . T Tl T .3
g — —] = !
eee! '“u..':‘_"_‘_"] "“\.,‘_q < |~ [ |M(ke s E 1 e ™ 4
[ T H o R as ; = c
N b M{MA e =) —r M IHAY o —lan E
- - M{Na, g o ™ & k=T e 2
L is + a0 P — . i .
| | = : e b3
- i as - ' -
u H 10 - - 72 P =
|+ o Hr— " o " .
w T i
a ' N 1 § g
E 1 - e & [ARE
. MH W
£ T2 ——i- e _—4__,_-1 all 2 14l g
b b Na 4+ ? . TH
[T w e u :
‘2 // [ 5 1 B i L i :
w ) T z | : -,
FREY e i e //r : + f
) B .r’,J /*/ 7Tt b . .
L e .
e t a [ ©
I meo T Fil]
L] - T b 0 g., W ' y&
: 8 e - ] 2 wi o . 200 %
‘ oiNe) a0 & 1] BihE A B o i 5
—1T | o 2 1 g 190 g ‘ - _l-m I
l Ll : H ‘. RN E
* T4 1B00  ROU 000 2300 2400 FOOD MG MW 800 2060 2200 2400 2600 ZEON 300N 1200 34 3000
1400 600 1m0 qooo IO a0 600 MO0 3000 ey e SFEED iR (pm} Eenrang SREED rein i}
enif ZPEED il [\“‘M'\'\)
0076FD35 H076F026 0D76F037

DA950-B {SAE) P950-B (p1N)

L]
355 TOROUM .
. | i H fav &
INTERMITTENT TORCUE =y ! = L
. | v N r A
CONT. TORAUE-~——- - . h S =
f g 3
. & =
H ]
H
S £
E b
g x
g g
T i
& £
3 g
7 w
H ] ; ;
=
R P ; i
e L | . i H
d O R TN : :: ! ‘ | | l
wll P P Py R " H | | o | «
i ) J . = - . I %
8 ._._l__ | tiEL UM eI T ENI R— 4n % U ThiNF \___..,—--""'- s
t T 1 - : 0 & . t ‘ ‘ i 130 &
o [ i i L, . - N Iy | Pt Lo == *
1a00 1500 1800 po0N 2900 2400 2600 uged | 30 1400 THN 1E00 IKID AAUD PAND FOOD  SKIM 00
FRCEML SR M rprn) grmiR GRCCD MR i)
00761043 Q076F038



http://www.iteksoft.com/pdf-creator/
http://pdf.iteksoft.com/pdf-writer/

PERFORMANCE CURVES 70 mm STROKE SERIES WSM, £0201.0

V1100-B (sAE)

VH1100-B (sAE)
I

IMCA1M4G PETETS

/

i ¢
F i
1 nar b "
: : et — : I %
I i i 177 W T mm m e  ww  e 2 A i
W e e e e il W S
0107F0M ¢107F002 ] 01077003
V1100-8 (DIN) VH1100-8 (DN} V1200-B (Din}
[ J— r‘"“"’ oNTER FIN 50, O OB o o
[ : = e T P e ey
3 SR PR ' SR SOV NN 6 8 ] N I B Ol O | ,
IR N ESuERmaY Pl
- S B . ; | e | P e ““ﬁa;;""T?EF'“g
. s i SO Y O B i [ E
4 e, H T H B e
[— |, : i - \
1 § i )
¢ " §“€ i i I iy
£ £ Bl L
N : Fd
ird i = \ i
Lot M R, e — i
Al . -
R T ailw R —= - — — B s A &

. LSRR -
Lt ouging GICn alrgr] NG dpuLy noe g

0107F004 0107E005 01077006

B NOTE

® Each performance curves,
obtaihed in accordance with
DING6271.

¢ Each performance curves,
obtained in accordance with
SAE J1349.


http://www.iteksoft.com/pdf-creator/
http://pdf.iteksoft.com/pdf-writer/

70 mm STROKE S5ERIES WSM, 60201-0

DIMENSIONS

DIMENSIONS

WMLET
UL QI

INLET . Ank
CoM T WATFR ) & i : __\,_.—,, ;
- T2 i3
z AT

Unit: mm

171=0%2

126207 1at0z_
Me0 ¥ an 02

T
;

. b
WIND D1FECTION
i
L '
ui
3
L=
HoEo
— &7
1T & &L
T HooHm
1 l in nw
1 LL e
. ;o D ED
[ i GaZ
S | = B3
. e
Pomoww
5 PRl
= ¥ 23
= & oAl
FE Y
: ]
B M0a1IS Fall feuit:
1:EFTH 16 ’
- b _}
auiLel
T w8 DRl T COOLING WATER
y.fz".'ma SYRIIET 514 5 /
maH_{n})DIS e
KR PN HDLL
aur et

b
ool
oo
PRl
e
¥.o0W
207w
[~
1o
L
B
w, M
oy
=] hat]
[
a :
3

0101F001

A LI Hul E

t o -
L : T v g O
G-k LFeTHIRS | 0

ks - pLriHIn
6 Mo REPTH 1% e o0z JENENCE PIN HOLF
' |_‘ 137407 . J

EXABUNT (A%

G M3 DLRIWIY



http://www.iteksoft.com/pdf-creator/
http://pdf.iteksoft.com/pdf-writer/

DIMENSIONS

70 mm STROKE SERIES W5M, £0201-0

WING DIREGTION

tnit: mm

"
i
= —
G B 5 &
5! B
2l 7
MR : 5o
B .-
O~y 284 . ol wls
o e 2 | | il E
2 s 1 2§
S a7 S Wi i3+ E gz:
b & g: 2|80
; Y | e T
Il I =3
— o WEES
= )
u AR | alzd
o I ]
— N .
3 = w T
L] - .
mé --,/—) - - | 1 E é.‘;
{1 F [; = HEILES
il Ak — d
by i 2oy = |
sz li o ot
— N
= T
- M0 120 Pt o
7 GEPTH 16
__INLET Ja
FUEL OIL
A%5| 45 122 45
777
r 230
3710,
171+ 0.2
126 x 0.2
TZT L 0.7 a0 La0E a3 ‘
EENE] TN i 2016 ing
GERTE: 6 jel 42 QUTLET
ENOZE PIN HOLF /IML-H
3 — 8 HILE INLET
IME _ DEFTH 1y AR L GuTyET
EXHAUBT CAS
/ T
.£ .
I A £
o
=
3 : i g
A
. . 1
orfow| =
B B _ﬁi |+ i
Al rilzlal
RIS ?1' =lz
T ||
5
kel
o
o
ol =8 HRLE |,
I3 o [ r
a4 ala B . .
e q F
2 S % H
- 8 7 HOLE 85+ [ 1 95 + 0.1
adn_ OEFTHE
8.M8 DEPTH 12.8

45402 4G +. 0.2
10w 2 02 __hRant
13707 146 +0 3

6. M3
DERTHI1?



http://www.iteksoft.com/pdf-creator/
http://pdf.iteksoft.com/pdf-writer/

70 mm STROKE SERIES WSM, 60201-0

DIMENSIONS

-

LFPTH 16

!
am | e wr sy hiﬂl [) ‘ A
. J

001 13 5 Gr i

Y
—
i \:M LF TS

S M T B S 113 prace]

o adin HGLE 17 placa!
7 mARErTI Y 1 et

HULE 12 place

[EEE PERELEY

2107F007

‘ 10 E 18 1093

LRGP 0D 2

R HULE

y
H \MDDI:PTH 5
| ‘

A5 At 1D J

05 e

Unii: mm

2371

My



http://www.iteksoft.com/pdf-creator/
http://pdf.iteksoft.com/pdf-writer/

70 mm STROKE S5ERIES WS, 60201-1

[3] TIGHTENING TORQUES

Screws, bolts and nuts must be tightened to the specified torque using a torque wrench, Several screws,
bolts and nuts such as those used on the cylinder head must be tightened in proper sequence and at the

proper torque.

(1) Tightening torques for special use screws, bolts and nuts

Ml NOTE
& For "*" marked screws, bolts and nuts on the table, apply engine ail to their threads and seats before
tightening.
Item Size x Pitch N-m kgf-m ft-Ibs
Head cover cap nuts M7x1.0 69t08.8 0.7t00.9 51t06.5
*  Head screws and nuts (2500-8 only) M8 x 1.25 39.2t0441 4.0t0 4.5 28910325
{Others) M9 x 1.25 64.71069.6 6.6to7.1 47. 710 51.4
*  Bearing case screws 1
(Flange bolts) M7 x1.0 265t0304 2.7t0 31 195t022.4
(Non-flange bolt) M7x 1.0 196to023.5 20t02.4 14.5t017.4
Bearing case screws 2 MB x 1.25 29.4t034.3 3.0t03.5 21.7t0253
Flywheel screws
(Flange bolts) M10x1.25 58.81063.7 6.0t06.5 43 4t047.0
{Non-flange bolts) M10x1.25 53.91058.8 5.5t060 39.8to0d34
Connecting rod screws M7 x Q.75 26510304 27to03.1 195t022.4
Rocker arm bracket nuts M7x1.0 16.7 to 20.6 1.7to 2.1 12.31t05.2
Idie gear shaft screws Méx 1.0 38t011.3 1.00to0 1.15 7.2108.3
Glow plugs M10x1.25 19.6 to 24.5 2.0t025 14510181
Drain plug MI12x1.25 39.2t049.0 4.0t05.0 289t036.2
Nozzle holder assembly M24x20 29410 49.0 3.0t05.0 21710 36.2
Ol switch taper screw PT /8 14.7t0 19.6 1.5t02.0 10.8to 145
Fuel limit lock nut Mi12x1.0 27.51034.3 281035 203t0 253
Fuel limit cap nut M12x1.0 24510294 25t03.0 18.1te 21.7
Injeclion pipe retaining nuts M12x1.5 14.7to24.5 1.5t025 10.8to 81
Nozzle holder and nozzle 58.8t0 785 6.0to 80 43 4t0 579
retaining nut ‘
Nozzle holder mounting screw M24x 2.0 39.2t049.0 40t05.0 28910362
*  Crankshaft nut M20x 1.5 137.3t0 156.9 14.01t0 16.0 101.3t0 115.7

(2) Tightening torques for general use screws, bolts and nuts

When the tightening torques are not specified, tighten the screws, bolts and nuts accerding to the table

below.
Grade Standard Screw and Bolt Special Screw and Bolt
~— @

Nominal " Unit

Diameter N-m kgf-m ft-lbs N-m kgf-m ft-ibs
M 6 79t093 (08010095 58t069 | 2.8t011.3 | 1.00t01.15 | 7.23108.32
M8 17.7t0206 | 1.8to2.1 13.0t015.2 [ 23.5t0275} 24t02.8 |17.4t0203
M10 39.2t045.1 | 40046 |2891t033.3|48.11055.9| 49t057 |354t041.2
vtz 62.8to726]| 64to7.4 [4631053.5]|77.5t090.21 791092 |57.11t066.5

screw and bolt material grades are shown by numbers punched on the screw and bolt heads. Prior to
tightening, be sure to check out the numbers as shown below.

Punched Number

Screw and Bolt Material Grade

Noneord

Standard Screw and Bolt $547, 520C

7

Special Screw and Bolt 543C, 54BC (Refined)



http://www.iteksoft.com/pdf-creator/
http://pdf.iteksoft.com/pdf-writer/
rubenhus

rubenhus
KiSC issued 09, 2007 A


70 mm S5TROKE SERIES WSM, 60201-0

[5] SERVICING SPECIFICATIONS
(1) ENGINE BODY

Cylinder Head
Itemn Factory Specification Allowable Limit
. 0.05 mm
Cylinder head surface flatness - 00019 in
Top clearance 0.6t00.8mm B
0.0237 t00.0315in.
Cylinder head gasket shim thickness 0.2 mm _
0.0079 in.
Free 1 1510 1.30 mm 3
Cylinder head gaskat thickness 00457t 0.0512in.
(Grommet section) Tightened 1.05to 1.15 mm B
$.0413 to 0.0453 in.
3.09 MPa 2.32 MPa

Compression pressure

31.5 kaffem, 488 psi

23.7 kgfiom® 337 psi

Variance among cylinders

10% or less

Valves

Valve clearance (Cold)

014510 0.185mm
00057 to 0.0072 in.

2.12mm
0.0835in

Valve seat width YH1100-B only

1.74mm
0.06851n

EX.

2.12mm
0.0835in.

0.785 rad.
45"

Valve seat angle VH1100-B only

1047 rad.
60°

EX.

0.785 rad
45°

N 794 rad.
45.5%

Valve face angle VH1100-B only

1.051 rad.
6015’

EX.

0.794 rad.
45.5°

Valve recessing

0%to 1.1 mm
0.036t00.043

1.3mm
0.0511n.

Clearance between valve stem and valve guide
Valve stem 0.D.

Valve quide 1.12.

0.035 to 0.065 mm
0.0014 to 0.0025 in.
6.960 10 6.975 mm
02741t 0274600,
7010t 7.025 mm
0.2760 100 2765 in.

31mm
000391n.



http://www.iteksoft.com/pdf-creator/
http://pdf.iteksoft.com/pdf-writer/
rubenhus

rubenhus
KiSC issued 09, 2007 A


70 mm STROKE SERIES WSM, 60201-1

Valve Timing

ltem

Factary Specification

Allowable Limit

Qpen

Intake valve
Close

0.35 rad.(207%)

before T.D.C.

0.79 rad.(45")
afterB.D.C.

Open

Exhaust valve Close

0.87 rad.(50°)

before B.D.C.

0.26rad.(15%)
after T.D.C.

Valve Spring

Free length

35.1t0 356 mm
1.382 10 1.401in.

3I.8mm
1.370in.

Setting load / setting length

73.5 N/31.0 mm

7.5 kgff21.0 mm, 16.5 lbs/1.22 in.

62.8 N/31.0 mm
6.4 kgfi31.0 mm, 14.11bs/1.22 in.

Camshaft journal O.D.

Camshaft bearing LD,

. 1.3mm
Tilt 0.051in.
Rocker Arm
Clearance between rocker arm shaft and 0.016 to 0.068 mm 0.12mm
bearing 0.0006 to 0.0027 in. 0.0047 in.
Rocker arm shaft 0.D. 10.973 to 10.984 mm -
0.4320t0 0.4324 in
Rocker arm bearing |.D. 11.000 to 11.041 mm -
0.4331 to 04347 in.
Tappet
Clearance between tappet and guide 0.020tc 0.062 mm 0.1 mm
0.0008 t00.0024 in. 0.0039in,
Tappet 0.D. 19.959 to 19.980 mm -
(1.7858 to 0. 7866 in.
Tappet guide L.D. 20.000to 20.021 mm -
0.7874t0 0.7882 in.
Camshaft
: 0.07te0.22 mm 0.3mm
Camshaft side clearance 0.0028 to 0.0087 in, 0.0118in.
. 0.01 mm
Camshaft alignment - 0.0004 in.
: 26.88 mm 26.83 mm
Cam height (IN., EX.) 1.0583in. 1.0563in.
Oil clearance of camshaft 0.0501t0 0.091 mm 015 mm
0.0020 10 0.0036in. 0.0059 in.

32.934t0 32950 mm
1.2966101.2972in.
33.000 to 33.025 mm
1.2992 to 1.3002 in.



http://www.iteksoft.com/pdf-creator/
http://pdf.iteksoft.com/pdf-writer/
rubenhus

rubenhus

rubenhus
KiSC issued 09, 2007 A


70 mm STROKE SERIES WSM, 60201-3

Timing Gear

Item

Factory Specification

Allowable Limit

idle gear shaft O.D.

idle gear bushing |.D.

17.973t0 17.984 mm
0.7076 10 07080 mm
18.000 to 18.018 mm
0.7087 to 0.70%4n.

Timing gear backlash 0.042100.115 mm 0.2 mm
0.0017 to 0.0045 in. 00079 in.
Idle gear side clearance 0.20t0 0.51 mm 0.8 mm
0.0079 to 0.0201 in. 0.0315in.
Clearance between idle gear shaft and idle gear 0.016 to 0.045 mm 0.1 mm
bushing 0.0006 to D.0018 in. 0.0039in.

Engine serial number: 407507 and beyond (ZSOO—B, 7600-B,ZH600-B, D650-B, 0750-B, DB850-B, DHE50-B,
V1100-B, VH1100-8, V1200-B
393782 and beyond (D950-B)

)

Clearance between idle gear shaft and idie gear

bushing
Idie gear shaft O.D.

Idle gear bushing 1.D.

0.020t0 0.054 mm
0.0008 to 0.0021 in.
23.967 to 23.980 mm
09436 t0 0.9441 in.
24.000 10 24.021 mm
0.9449 t0 0.9457 in.

0.1 mm
0.003%in.

Engine serial number: 599860 and beyond {Z500-8, Z600-B,ZH600-B, D650-B, D750-8, D850-8, DHBSO—B,)
D950-8, V1100-8, VH1100-B, V1200-8

Clearance between idle gear shaft and idle gear
bushing
{dle gear shaft O.D.

ldie gear bushing 1.0

0.020to 0.054 mm
0.0008 to 0.0021 in.
29.967 10 29.980 mm
1179810 1.1802 in
30.000to 30.021t mm
1.1811t01.1819in.

0.1 mm
0.0039in.

Piston-Piston Ring

Piston Pin Bore

20.000 to 20.013 mm
0.7874100.7879 in.

20.03 mm
0.7886 in.

Clearance between compression ring 2 and ring

groove
Piston ring groove width

Compression ring 2 width

0.085to0.112mMm
0.0033 to 0.0044 in.
1.555 to 1.570 mm
0.0613t0 00618 in.
1.458t0 1. 470 mm
0.0574t00.0579in.

0.20 mm
0.007910n.

Clearance between oil ring and ring groove
Piston ring groove width

Oil ring width

0.020 to 0.055 mm
0.0008 to 0.0021in.
A4.010t04.030 mm
0.1579to 01387 in.
3.975 10 3.990 mm
0.1565t00.1;571in.

0.20 mm
0.0073 in.

5-8



http://www.iteksoft.com/pdf-creator/
http://pdf.iteksoft.com/pdf-writer/
rubenhus
Buy

rubenhus


70 mm STROKE SERIES W5M, 60201-4

Piston-Piston Ring (Continued)

Item Factory Specification Allowable Limit
Ring gap , 0.2510 0.40 mm
Compressmn 0.00981a 0.0157 in. 1.25mm
ring 1 0.0492 in.
D950-8,V1200-B 0.20t0 0.35 mm
only 0.0079t0 0.0138n.
. 0.25 to 0.40 mm
Compression 0.0098 0 0.0157 in. 1.25 mm
ring 2 03010045 0.0492 in.
30t00.45 mm
D350-B only 0.0118t00.0177 in.
I 0.25t0 0.40 mm
Qil ring 0.0098 t5 0.0157 in. 1.25mm
0.0492in.
D650-8, D750-B 0.20 to 0.40 mm
only 0.0079 t6 0.0157 in.
Connecting Rod
Connecting rod alignment _ 0.05mm
0.0020 in.
Clearance between piston pin and small end 0.014t0 0.038 mm 0.15mm
bushing 0.0006 to 0.0015 in. 6.0059 in.
Piston pin O.D. 20.002t0 20.011 mm -
0.7875ta 0.7878 in.
Small end bushing 1.D. 20.025 to 20.040 mm -
0.7884 to 0.7890 in,
Crankshaft
Crankshaft alignment B 0.02 mm
¢.0008 in.
Oil clearance between crankshaft and 0.034 to 0.106 mm 0.2 mm
crankshaft bearing 1 0.0013 t0 0.0042 in. 0.0079 in.
Crankshaft Q.D. 43934 t0 43.950 mm -
1.7297 t0 17303 in.
Crankshaft bearing 1 1.D. 43.984 to 44.040 mm -
1.7317 t0 1.7339 in.
Qil clearance between crankshaft and 0.034 t0 0.092 mm 0.2mm
crankshaft hearing 2 0.0013 to 0.0036 in. 0.0079in.
Crankshaft O.D. 43.9341043.950 mm -
1.7297 tg 1.7303 in.
Crankshaft bearing 2 1.D. 43,984 t0 44.026 mm -
1.7317 0 1.7333 in.
Oil clearance between crank pin and ¢rank pin 0.029t0 0.087 mm 0.2 mm
bearing 0.0011t00.0034in. 0.0079 in.
Crank pin O.D. 36.959 to 36.975 mm -
1.4551 10 1.4557 in,
Crank pin bearing |.D. 37.004 10 37.046 mm -
1.8569 to 1.4585 in.
Crankshaft side clearance 0.15te 0.31 mm 0.5mm
0.0059t00.0122in. 0.0197 in.
Crankshaft sleeve wear - 0.1mm
0.0039in,

S-9



http://www.iteksoft.com/pdf-creator/
http://pdf.iteksoft.com/pdf-writer/
rubenhus


70 mm $TROKE SERIES W3, 60201-3

Cylinder Liner

Item

Factory Specification

Allowable Limit

Cylinder liner 1.D.

D650-8

64 00010 684.019 mm
25197 t02.5204 1n.

Z500-B, D750-B

68.000 to 68.019 mm
2677210 2.677%0n.

D600-B,ZH600-B

72.000 to 72.019 mm

D&50-8,DHB50-B 2.8347 to ? 8354in, +0 15 mm
V1100-B 0.0059in
VH1100-B
[950-8, V1200-B 75.000to 75.019 mm
29520 1t0 7 2535i0in
. . . + (.5 mm
Oversized cylinder liner 1.D. 0.0157 i
(2) LUBRICATING SYSTEM
Oil Pump
At idle 68 kPa
speed 0.7 kgffent, 10 psi |
Engine oil 196 to 441 kPa 196 kPa
pressure Alrated 20tc45 kgf/crna‘ 29 13 ba p 2.0 kgflerm®, 29 psi
speed V1100-B 167 to 343 kPa 167 kPa
V1200-B only 1.7 to 3.5 kgffem®, 74 10 19 psi 1.7 kgflem®, 24 psi
. 011t 015 mm 0.2 mm
Clearance between inner rotor and outer rotor 003 10 0 0059 1

Clearance between outer rotor and pump body

007 te 015 mm
00028 to (L0059 in,

O00/9in.

0.25 mm
0 0098

End clearance between inner rator and cover

0.08t00.13mm
0.0031 o0 0051 i,

0.2 mm
0079,

(3) COOLING SYSTEM

Thermostat

Thermostat's valve opening temperature

£9.5to 72.5°C
1570t 162.4°F

Opens

Temperature at which thermostat completely

85°C
185%

5-10



http://www.iteksoft.com/pdf-creator/
http://pdf.iteksoft.com/pdf-writer/
rubenhus


/0 mm STROKE SERIES WSM, 602010

(4) FUEL SYSTEM

Injection Pump

ltem

Factory Specification

Allowable Limit

Injection timing

0402100 236 rad before TD.C.

(23° to 25°)

Fuel tightness ol pump element

14 7 MFPa
150 kgf/icm2, 2133 psi

Fuel tightness of delivery valve

More 10 seconds
147 — 137 MPa
150 — 140 kgficm?2

5 seconds
14.7 — 13.7 MPa
150 - 140 kgliem?

2133 — 1990 psj 2122 - 1990 pei
Injection Nozzle
13.73 10 14.71 MPa
Fuel injection pressure 140 to 150 kgfiem? -
1991 10 2133 psi
When the pressure is 12.75
. MPa ( 120kgficm’ . 1849 psi),
Fuel tightnass of nozzle valve seat the valve seat must be fuel
tightness.
(5) ELECTRICAL SYSTEM
Starter
Commutator O.D. {1 kW) 30.0mm 29.0mm
1.1811in. 11417 in.
(0.8 kw} 28.0mm 27.0mm
1.1024in. 1.063010n.
. 05to0.8mm 0.2 mm
Mica undercut 0.0197t00.0215in 0.0794n.
Brush length (1 kw} 13.0mm 8.5 mm
0.5118in .3346in.
(0.8 kW) 16.0 mm 10.5mm
0.6299in. 0.4134 in.

Alternator

No-load voltage

AC 20V at 5200 rpm

Glow Plug

Glow plug resislance

1.0t01.20Q

S-11



http://www.iteksoft.com/pdf-creator/
http://pdf.iteksoft.com/pdf-writer/
rubenhus


